r = Call now 0800 482 747
FLUID
\} Prlme MANAGEMENT info@primefluid.co.nz primefluid.co.nz

VX Series

Vortex Submersible Pumps O SolidsPro




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

Q SolidsPro

Vortex
Submersible
Pump

VX50M1.520

@SolidsPro |



Call now 0800 482 747
info@primefluid.co.nz
primefluid.co.nz

I a -
W Prime e

Vortex Submersible Pump
VX50M1.520

QSolidsPro

Construction features

Asynchronous dry motor, insulation 10 m - HO7RN-F

class F(155°C), cooled by the

surrounding liquid Handle to lift the pump

Fixing kit
Float regulation system

Capacity chamber M-MA/
Contactor TA

Singlephase motor with
built in thermal protector

Screws Quality A2

Qil chamber for cooling and
"~ lubrication of mechanical seals

O-RINGS NBR

Vent hole
V Ring
Shaft
protection

Backward impeller with large
free passage

DNm: G 2" /

DN50 PN6 [
No. | Description Material No. | Description Material
1 Motor Cast iron 5 Upper seal NBR Lip Seal
2 Cover Cast iron 6 Lower mech. seal SiC/SiC/NBR
3 Impeller Cast iron 7 Top bearing 6201-2RS
4 Shaft Steel AlISI 420B 8 Lower bearing 6203-2RS




Fn P - Call now 0800 482 747
FLUID
\’ rlme MANAGEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 =
VX50M1.520 QO SolidsPro

PERFORMANCE CURVE
16 [T T TT [TTTTT]
14 - X Best Efficiency Point |+
" SRR AQqmin. :
Sl T Mk
10 T T e L
—_ =~ T~ S~
£ T+4 T~ g
= 8 = i N
I I~ - T~ N
SN N ~=a
6 S W 2 3 =S W
+ T — |~
A \\\_\\ “‘~§~~ |
SN EunCRRN
2
0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34
Q[m?3/h]
SHAFT POWER
1,2 I
11 R
1,0 = =
< 09 - =
-‘;—‘- 08 — =
~ ) "
o 07 =
0,6
0O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 1§ 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34
Q[m?/h]
HYDRAULIC EFFICIENCY
50%
40% C
< 30% N o 7\ —
== [
E 20% B — ™~
W 10% —
0%
01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34
Q[m?3/h]
1/min 0,0 33,3 ]133,3 |233,3 |333,3 |433,3 |533,3
FLow (Q) |Ifs 00 (06 [2,2 39 |56 |72 (89
m’/h 0,0 2,0 8,0 14,0 [200 [26,0 32,0
HEAD (H) m 12,9 11,8 9,8 7,7 5,8 3,9 2,4
Specifications
Pump Type VX50M Discharge 50mm BSP Float Yes
Code VX50M1.521 Power Supply 1ph 230V - 50Hz Thermal Protection | Yes
Construction Cast Iron Nominal Speed 2900rpm Humidity Probe No
Impeller Type Vortex Rated Motor Power | 1.5kW Cable Length 10m
Weight 25kg Starting Current 21.6A Max Flow 32m3/hr
Impeller diameter 127mm Rated Current 7.7A Max Head 13m
Solids Passage 50 Capacitor 25uF Ingress Rating 1P68




Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 g
VX50M1.520 Q SolidsPro

Dimensions and installation

S | Installation mobile

Packaging dimensions

Il Min. Level N~
145 Al A |
fx} A |
| 0
‘ * : 0
™| T . |
M ol W e @ B ~ "¢
| c]
8] ! I T DN50-PN6
A oo s e 1 T ST e UNI EN ISO 1092-1 Measures
© 40 1 [mm]
239 @190 A e f
A B C
i 570 | 250 | 215
] © . RS5,0
§ 4xR6,75
L (M12)

FC | with foot coupling

357
80 |
182,5 =
REF.— 2R65 i (a)
e SR S |
, (2)
! EE— v
| P i
! 38
g27 | | | Min. Level
3/4" | T
|
; (o)}
| m
! 7o)
J .
| © [l | 8Fcooooo2 KG: 7,5
-4 m
e -
2 i f @ 1/3/4" guide rails bracket
= ‘
— l 8;
[ T @ 2 | Horizontal foot - 2"out
I e |
i L P10 @ 3 |Sliding bracket complete
|
‘ ﬂ 0 . 100 , 4 | Not supplied
N RS0 > | St
= ] g 3
188 =
el | =
366 ‘ i
130,0
£ E




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

QO SolidsPro

Vortex
Submersible
Pump

VX50T322

QSolidsPro



Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

L]
Vortex Submersible Pump () SolidsPro
Construction features
Asynchronous dry motor, insulation
class F(155°C), cooled by the
surrounding liquid
Shackel to handle
the pump
Built in thermal 2 i j Singlephase motor with built
protector / / | s ’ ] g - in thermal protector
aqa—p | 3 v/ g
10 m - HO7RN-F 7%
e 7% | |
| ) A Oil chamber for cooling
e \Y 1, ’ and lubrication of
8 A/ ' mechanical seals
Optional - : 4
Qil probe 3 LETE /
Vi 1
]
Screws Quality A2 5 i
v
O-RINGS NBR f
)
/
DNm:
DN50 PN6
Backward impeller with
large free passage
No. | Description Material No. | Description Material
1 Motor group Cast iron 5 Upper mech. seal Carbon/Graphite/NBR
2 Cover Cast iron 6 Lower mech. seal SiC/SiC/NBR
3 Self cleaning propeller Cast iron 7 Top bearing 6302-2RS
4 Shaft AISI 4208 8 Lower bearing 6304-2RS




<> Prime

FLUID
MANAGEMENT

Call now 0800 482 747
info@primefluid.co.nz

primefluid.co.nz

Ll
Vortex Submersible Pump @) SolidsPro
PERFORMANCE CURVE
20 A ——— I ——
19 ot s
13 = - XBestEfﬁciencyPoint H
16 = == A amin. =
15 = —— -
14 T = ~~— ; =
13 — 4— - ——
12 == ‘ ==
T U g — =
= 10 = B S
T PN
8 —— — — =
7 == <~ =
6 4
5 7 “i— =
4 g » =
3 =
2
1
0
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42
Q[m3/h]
SHAFT POWER
2,3
2,2
21
. 20
i 19 =
~ 1,8 — —
& 47
1,6
0 2 4 6 & 10 12 14 16 18 20 ~ 22 24 26 28 30 32 34 36 38 40 42
Q[m3/h]
HYDRAULIC EFFICIENCY
50%
40% 7
30% = —
g L = T % T ~
[ - S
& q0% T
0%
0 2 4 6 8§ 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42
Q[m3/h]
1/min 0,0 100,0 [200,0 |300,0 [400,0 |500,0 |600,0 |666,7
FLOW (Q) I/s 0,0 1,7 3,3 5,0 6,7 8,3 10,0 11,1
m>/h 0,0 6,0 12,0 18,0 24,0 30,0 36,0 40,0
HEAD (H) |m 17,1 153 135 |11,5 |94 7,2 4.7 3,1
Specifications
Pump Type VX50T Discharge 50mm BSP Humidity Probe Yes
Code VX50T322 Power Supply 3ph 400V - 50Hz Cable Length 10m
Construction Cast Iron Nominal Speed 2900rpm Max Flow 40m3/hr
Impeller Type Vortex Rated Motor Power | 3kW Max Head 17.1m
Weight 36kg Starting Current 24.2A Ingress Rating P68
Impeller diameter 162mm Rated Current 5.5A
Solids Passage 48mm Thermal Protection | Yes




Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump @) SolidsPro
VX50T322
Dimensions and installation
S |Installation mobile
Packaging
‘ dimensions
; * <>
| 9
; TN | B 2 14/
‘ ) l L
5 1
N O ;
n M B\\‘\ ”
Q[ Ry @ DNS0-PN6 ¢
- : s UNI EN 1SO 1092-1
i es g, A%R6,50 Measures [mm]
2805 | (M12)
== A B &
600 240 290
RS5 [\
e |
FC |with foot coupling
1
Ref. - ey 2R65 67, éi
C T80 oM (4)
ok 2055 T N
, i ] il
S
2x¢2690 U
2X3/4" |
‘ S
|70 LN
62— | L N &7 | 8FC000002
| ﬂ
- 1 m S
8 | - — @ 1| 3/4" guide rails bracket
@
2 i | — @ 2 | Horizontal foot - 2"out
4XR6,5 ‘ — @ 3 | Sliding bracket complete
= | L— 4 | Notsupplied
J==I
AR
00 A
s
o M
e L7




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

Q SolidsPro

Vortex
Submersible
Pump

VX65T2.242




Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 g
VX65T2.242 @/ SolidsPro

Construction features

Asynchronous dry motor, insulation
class F(155°C), cooled by the
surrounding liquid

Shackel to handle

the pump

S ok
Built in thermal L rD[ ; :F-‘ ﬂ\
protector y ™ Singlephase motor with built in
3 X y thermal protector
q ’ I
10 m - HO7RN-F L/ 1
v /g
i /
wlle Z\7
8 T L . '
| v Oil chamber for cooling and
' Y . lubrication of mechanical seals
Optional i 4 7
Qil probe \, /
5 I
/ 1
) A t h
Screws Quality A2 6 L /
!
- s 1
O-RINGS NBR — ] = - \ring
3 ) NBR (Viton)
DNm: BN65 I | |
PN6-PN16
\ Backward impeller with large
free passage
- i
No. | Description Material No. | Description Material
1 Motor group Cast iron 5 Upper mech. seal Carbon/Graphite/NBR
2 Cover Cast iron 6 Lower mech. seal SiC/SiC/NBR
3 Self cleaning propeller Cast iron 7 Top bearing 6302-2RS
4 Shaft AlISI 420B 8 Lower bearing 6304-2RS




Fn P - Call now 0800 482 747
FLUID
\’ rlme MANAGEMENT info@primefluid.co.nz

primefluid.co.nz

o
Vortex Submersible Pump () SolidsPro
PERFORMANCE CURVE
12 :
1 e “
10 —t ‘ H
9 o - ==L XBestEfficiencyPoint N
. To=b=d e Aaqmin N
=T - ==
— 7 T .
E SR ~l
T T e T
4 s O R B~ R R
3 L1 I S
2 L
1
0
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48
Q[m3/h]
SHAFT POWER
19
1,8 ms———
— ; ——
T 17 54____ =
= - 7 [\
N 16
1,5
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48
Q [m3/h]
HYDRAULIC EFFICIENCY
50%
40%
30%
= — 7/ —
3 20% = ]
G o10% =
0% =1
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48
Q [m?/h]
1/min 0,0 100,0 [200,0 [300,0 [400,0 [500,0 [600,0 |733,3
FLOW (Q) I/s 0,0 1,7 33 5,0 6,7 8,3 10,0 12,2
m’/h 0,0 6,0 12,0 18,0 24,0 30,0 36,0 44,0
HEAD (H) m 10,2 9,6 8,8 8,0 7,0 5,6 4,6 2,7
Specifications
Pump Type VX65T Discharge 65mm BSP Humidity Probe Yes
Code VX65T2.242 Power Supply 3ph 400V - 50Hz Cable Length 10m
Construction Cast Iron Nominal Speed 1450rpm Max Flow 44m3/hr
Impeller Type Vortex Rated Motor Power | 2.2kW Max Head 10.2m
Weight 62kg Starting Current 21A Ingress Rating 1P68
Impeller diameter 190mm Rated Current 4.4A
Solids Passage 65mm Thermal Protection | Yes




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

Vortex Submersible Pump 5 =
VX65T2.242 @/ SolidsPro

Dimensions and installation

S |Installation mobile
’% Packaging dimensions
/\/”\\
NS
© | ~
O i
" Al oA
o @ &
o
Ioa)
. u) S~
i BN
% Measures
345 [mm]
UNI EN 1092-1 DN65 A B C
PN6 PN16 720 370 | 300
B130 45 N D145
AXP14 4XP18

FC | with foot coupling
(SN
U"Eg
OO
@
S1
@
g4
}LN:’!, @m@
[ 5315% & KJ J()A :
\ =t 7 0
¥ | | 2 .‘aFcoooooa KG: 10
J;l'l \ 3{ l

@ 1|3/4" guide rails bracket

@ 2 |Horizontal foot - 2"?out

_ ] @ 3 [Sliding bracket complete
|
o 1 .
. 4 [Not lied
: i ot supplie
219
D 260
D
[ E 175
F 195




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

QSolidsPro

Vortex
Submersible
Pump

VX80T2.942

AR
 @SolidsPro




Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump @ SolidsPro

VX80T2.942

Construction features

Asynchronous dry motor,
insulation class F(155°C), cooled

Shackel to handle by the surrounding liquid

the pump

Built in thermal
protector
10 m - HO7RN-F
8
3 Oil chamber for cooling and
. i lubrication of mechanical seals
Optional i @
Oil probe T
|
| j
Screws Quality A2 5 1
O-RINGS NBR 6 A\ V-ring
S NBR (Viton)
b —
NS — L
DNm: DN80 3
PN16
| Backward impeller with
large free passage
m 5
No. | Description Material No. | Description Material

1 Motor group Cast iron 5 Upper mech. seal Carbon/Graphite/NBR
2 Cover Cast iron 6 Lower mech. seal SiC/SiC/NBR

3 Self cleaning propeller Cast iron 7 Top bearing 6302-2RS

4 Shaft AlISI 420B 8 Lower bearing 6304-2RS




Call now 0800 482 747
info@primefluid.co.nz
primefluid.co.nz

FLUID
MANAGEMENT

<> Prime

Vortex Submersible Pump
VX80T2.942

Q SolidsPro

PERFORMANCE CURVE
14
13
12
11
10

| ERENERERENEREREY
— T i i ! ! X Best Efficiency Point
A amin.

A\n

/

7

4/ N
7

/

H [m]

—_ f— <]
. |___~_-_-_-

l/.
l
/

/4
/

O B, N W A U N ®

6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80 82
Q[m?/h]

SHAFT POWER
2,2

2,0

1,8

P2 [kW]

16 L

LT | | |

14
0 2 4 6 8 1012 14 16 18 20 22 24 26 28 30 32

HYDRAULIC EFFICIENCY

50%
40% — ] EEns=seC
30% i —
-~ ! LT T
£ 0% ] —
il : R -t
4 10% : :
o% < ‘
0 2 4 6 8 1012 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80 82
Q[m?/h]
1/min 0,0 150,0 |333,3 [533,3 |633,3 [800,0 |916,7 |1083,3 |1300,0
FLOW (Q) I/s 0,0 2,5 5,6 8,9 10,6 |13,3 153 18,1 21,7
m>/h 0,0 9,0 20,0 32,0 38,0 48,0 55,0 65,0 78,0
HEAD (H) |m 11,7 |11,5 [10,7 |8,8 8,0 6,1 1,8 3,5 2,1
Specifications
Pump Type VX80T Discharge 80mm BSP Humidity Probe Yes
Code VX80T4.942 Power Supply 3ph 400V - 50Hz Cable Length 10m
Construction Cast Iron Nominal Speed 1450rpm Max Flow 78m3/hr
Impeller Type Vortex Rated Motor Power | 2.9kW Max Head 11.7m
Weight 76kg Starting Current 27A Ingress Rating 1P68
Impeller diameter 219mm Rated Current 5.2A
Solids Passage 80mm Thermal Protection | Yes




Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump ® -
VX80T2.942 @ SolidsPro

Dimensions and installation

S |Installation mobile

Packaging
dimensions

Measures [mm]

S3: 327

750 450 390

F C |with foot coupling

2xR9 | 180 | in
n

.

<
¥
O
.
b qQ
gl Q2 [ | 8FC000004
L} | m
ol
(20
BTN e s ' ~ @ 1| 1"1/2 guide rails bracket
220 . 756 ) @ 2| Vertical foot - 3"out
4x@18
2 OO OO 94" .l 66 3| sliding bracket complete
A ) _ T R80 (PN10) ™
e “ ] 8 4 | Not supplied
N
=
A
L




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

QO SolidsPro

Vortex

Submersible
Pump

VXB0T3.722




Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 -
VX80T3.722 @ SolidsPro

Construction features

Shackel to handle

the pump Asynchronous dry motor, insulation

class F(155°C), cooled by the
surrounding liquid

Built in thermal
protector

—®

10 m - HO7RN-F

Oil chamber for cooling and
lubrication of mechanical seals

|
[

) Y | ]
Optional i
Oil probe -

[
|

Screws Quality A2 i j
Quality 5 ‘ 1
~
O-RINGS NBR i
6 ‘ AN V-ring
— | NBR (Viton)
|
DNm: DN80 — 3 L]
PN16 —
Z 2 ; Backward impeller with large
free passage
No. | Description Material No. | Description Material
1 Motor group Cast iron 5 Upper mech. seal Carbon/Graphite/NBR
2 Cover Cast iron 6 Lower mech. seal SiC/SiC/NBR
3 Self cleaning propeller Cast iron 7 Top bearing 6302-2RS
4 Shaft AISI 420B 8 Lower bearing 6304-2RS




Call now 0800 482 747

I a -
\} Prlme KALEIL%GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 =
VX80T3.722 O SolidsPro

PERFORMANCE CURVE

20 R I A I
19 NN N N N N N |
18 = =
17 L =+ X Best Efficiency Point
16 1= —— )
wER ] =] A amin.
14 e T
13
12 | 1
11 . I N 3
10 e i T =

9 s R o )

H [m]

OCRrNWhUON®
l
/
I

0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54 56 58 60 62 64 66 68 70
Q[m?/h]
SHAFT POWER
3,0

2,8

2,6

g —

P2 [kW]

2,4 =

2,2
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30Q3[2 327;']36 38 40 42 44 46 48 50 52 54 56 58 60 62 64 66 68 70
m

HYDRAULIC EFFICIENCY

50%
40% N
s
. 30% — N —
X =] ——
< 20%
it L1 L P~
W 10% i
|
0%+
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54 56 58 60 62 64 66 68 70
Q[m3/h]
1/min 0,0 146,5 |325,5 |520,9 |618,5 |781,3 |895,2 |1058,0
FLOW (Q) [I/s 0,0 2,4 5,4 8,7 10,3 |[130 |149 [17,6
m°/h 0,0 8,8 19,5 31,3 37,1 46,9 53,7 63,5
HEAD (H) m 17,1 15,6 13,4 10,3 8,8 6,5 4,9 2,4
Specifications
Pump Type VX80T Discharge 80mm BSP Humidity Probe Yes
Code VX80T3.722 Power Supply 3ph 400V - 50Hz Cable Length 10m
Construction Cast Iron Nominal Speed 2900rpm Max Flow 63.5m3/hr
Impeller Type Vortex Rated Motor Power | 3.7kW Max Head 17.1m
Weight 75kg Starting Current 33A Ingress Rating 1P68
Impeller diameter 168mm Rated Current 6.6A
Solids Passage 80mm Thermal Protection | Yes




<> Prime

FLUID
MANAGEMENT

Call now 0800 482 747
info@primefluid.co.nz
primefluid.co.nz

VX80T3.722

Vortex Submersible Pump

Q SolidsPro

Dimensions and installation

S |Installation mobile - Installation
Packaging
dimensions
—-@— ~_
N
JAL TP
1l Nl
] ‘\1 _~
B ¢
~N
' 8
val Measures
o ? [mm]
S IR=t
' —‘n 1 A B c
‘ @320 390
FC |with foot coupling
2xR9 | 180 ,
-
i .
| ¥
1
95 |
<
V':
o -
= n
M 8FC000004
m
0
. g 1"1/2 guide rails bracket
Ax18 220 @ 2| Vertical foot - 3"out
X
¢ ' O0 OO Sliding bracket complete
Qmo R80 (PN10) @3
§ 8XR9 ]
2 < . 4 | Not supplied
kS| L
; il 3 R75 (PN6)
1S
:
E r F 400




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

QO SolidsPro

Vortex
Submersible
Pump

VXS80T4.942




Call now 0800 482 747
info@primefluid.co.nz
primefluid.co.nz

I a -
W Prime e

Vortex Submersible Pump
VX80T4.942

Q SolidsPro

Construction features

Shackel to handle
the pump

Asynchronous dry motor, insulation
class H(180°C), cooled by the
surrounding liquid

Built in thermal
protector

10 m - HO7RN-F

Screws Quality A2
Oil chamber for cooling and
lubrication of mechanical seals

O-RINGS NBR
Optional i .
Ol probe Radial lip seal ring
DNm: BN65 v
PN16 —Vv L
_/—_—— .
Shaft protection sleeve
Backward impeller with
large free passage
No. | Description Material No. | Description Material
1 Motor group Cast iron 5 Upper mech. seal Carbon/Graphite/NBR
2 Cover Castiron 6 Lower mech. seal SiC/SiC/NBR
3 Self cleaning propeller Cast iron 7 Top bearing 6305-2RS
4 Shaft AISI 420B 8 Lower bearing 3207-2RS




Fn P - Call now 0800 482 747
FLUID
\’ rlme MANAGEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 g
VXB0T4 942 @SolidsPro

PERFORMANCE CURVE
16
15 e [ ‘
14 _ &
E | e T BanaEs H X Best Efficiency Point E
1n H= - E A Qmin. I

=
o
n
7
L
7z,

H[m]

O R N WAAU O N WO
7
7
/

0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80 84 88 92 96 100 104 108
Q[m/h]
SHAFT POWER

40 -
38 N e
36 . et
34 — i
32 ="
3,0
2,8

P2 [kW]

L

0 4 8 12 16 20 24 28 32 36 40 44 6-2.3[ %;h]SG 60 64 68 72 76 80 84 88 92 96 100 104 108
m

HYDRAULIC EFFICIENCY

60%
50%
'4
40% —
p— ! ——
g 0% = = ~_
s 20% = o
o 10% T
0% +=
0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80 84 88 92 96 100 104 108
Q[m3/h]
1/ min 0,0 333,3 |666,7 |833,3 |1000,0 |1166,7 |1333,3 |1500,0 |1700,0
FLOW (Q) I/s 0,0 5,6 11,1 13,9 16,7 19,4 22,2 25,0 28,3
m’/h 0,0 20,0 |400 |500 60,0 70,0 [80,0 90,0 [102,0
HEAD (H) m 14,1 13,5 11,7 10,6 9,2 7,8 6,2 4,6 2,7
Specifications
Pump Type VX80T Discharge 80mm BSP Humidity Probe Yes
Code VX80T4.942 Power Supply 3ph 400V - 50Hz Cable Length 10m
Construction Cast Iron Nominal Speed 1450rpm Max Flow 102m3/hr
Impeller Type Vortex Rated Motor Power | 4.9kW Max Head 14.1m
Weight 108kg Starting Current 44.5A Ingress Rating 1P68
Impeller diameter 220mm Rated Current 8.1A
Solids Passage 80mm Thermal Protection | Yes




Fn P - Call now 0800 482 747
FLUID
\’ rlme MANAGEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 -
VX80T4.942 @ SolidsPro

Dimensions and installation

S |Installation mobile

241 Packaging dimensions

S1-~'749

w
N\
(RN

Measures [mm]

?321

A B C
750 450 390

281

@337

FC |with foot coupling

1
e le
2xp18 -
\ OO

N
<
~
2 — 3
el 7 = @ |8FC000004 KG: 30
=] n
, i
756 - @ 1 |1"1/2 guide rails bracket
| @ 2 |Vertical foot - 3"out
UNIEN 1092-1 %~ 9
DN80 PN10 @ 3 |Sliding bracket complete
12X@19 4 |Not supplied
5 D 550
) [ _m




r - Call now 0800 482 747
W Prime 8ceue

info@primefluid.co.nz
primefluid.co.nz

QO SolidsPro

Vortex
Submersible
Pump

VX80T5.522




Call now 0800 482 747

I a -
\} Prlme K/ILAL\JI{I?\GEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 g
VX80T5.522 QSolidsPro

Construction features

L

Shackel to handle
the pump

Asynchronous dry motor, insulation
AN\ class F(155°C), cooled by the
surrounding liquid

Built in thermal
protector

10 m - HO7RN-F

Screws Quality A2

O-RINGS NBR \ .

Qil chamber for cooling and
lubrication of mechanical seals

oo gy ag

|

Optional 7// Radial lip seal rin
Oil probe ,/ P &
DNm: BN65
PN6-PN16
Shaft protection sleeve
/ Backward impeller with
large free passage
No. Description Material No. | Description Material
1 Motor group Cast iron 5 Upper mech. seal Carbon/Graphite/NBR
2 Cover Cast iron 6 Lower mech. seal SiC/SiC/NBR
3 Self cleaning propeller Cast iron 7 Top bearing 6305-2RS
4 Shaft AISI 420B 8 Lower bearing 3207-2RS




Call now 0800 482 747
info@primefluid.co.nz
primefluid.co.nz

FLUID
MANAGEMENT

<> Prime

L]
Vortex Submersible Pump () GollidsPro
Influence area
PERFORMANCE CURVE
24 i i i
2 L AR i
20 e RARES
KL Tl R ES
18 =4 ~ ] =2 X Best Efficiency Point [
T Fre S
16 =2 = =2 AQmin. N
L] 14 - [~ —= - e T~
= o) ENEEE ~ o B
10 = N =
8 I~ P e } il T+
6 “Tee a = i Rhas o
4 i SN NS e = SH
2
0
0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80 84 8 92
Q[m3/h]
SHAFT POWER
4,6
4,4 3
H H H H \ / | —
4,2 — i
— I P4
T 40 =
= 38 —— -
& 36 AT
3,4 £
0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80 84 8 92
Q[m?/h]
HYDRAULIC EFFICIENCY
80%
60%
- N
?.2— 40%
S o T LARI ~—l
& 20% =
0% +=1
0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80 84 88 92
Q[mé/h]
1/min 0,0 166,7 |333,3 |666,7 |1000,0 |1333,3 |1416,7
FLOW (Q) I/s 0,0 2,8 5,6 11,1 16,7 22,2 23,6
m>/h 0,0 10,0 20,0 40,0 60,0 80,0 85,0
HEAD (H) m 20,2 |186 168 [13,0 [9,0 5,2 4,3
Specifications
Pump Type VX80T Discharge 80mm BSP Humidity Probe Yes
Code VX80T5.522 Power Supply 3ph 400V - 50Hz Cable Length 10m
Construction Cast Iron Nominal Speed 2900rpm Max Flow 85m3/hr
Impeller Type Vortex Rated Motor Power | 5.5kW Max Head 20.2m
Weight 103kg Starting Current 57A Ingress Rating P68
Impeller diameter 161mm Rated Current 10A
Solids Passage 80mm Thermal Protection | Yes




Fn P - Call now 0800 482 747
FLUID
\’ rlme MANAGEMENT info@primefluid.co.nz

primefluid.co.nz

Vortex Submersible Pump 5 -
VX80T5.522 @/ SolidsPro

Dimensions and installation

S |Installation mobile
241 Packaging dimensions
P
"\\_7\ > P
o)) A 1./\. /']
X J |
@ : )
g <
8
~ g] Measures [mm]
i A B C
UNI EN 1092-1
DN80 PN10 750 450 390
12x@18 -
1 e —
L 12)
T M
I8 @160
FC |with foot coupling
(
| P{’&' GE
REF.— 2xp18 -
—_— \ af
BRI
i
171 i
! | N~
{ i ¥
o+ =
10 — /]
e} ] E ~ I |8FC000004 KG: 30
[R=) v
i
756 o —{ @ 1|1"1/2 guide rails bracket
| — @ 2 |Vertical foot - 3"out
UNI EN 1092-1— %-——+94
DN80 PN10 . I @ 3 |Sliding bracket complete
]_2)«2519 — 4 |Notsupplied
b D 550
[
I 600 |
E- 3 F 400




